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%2824 9.93 = 38.13(m)
2}:28.2 - 9.93 = 18.27(m)




4.

>
> HEbD 2739

7V 2L 4ge A ZbelSs 2,379
SRR 2 A4 A 2] 4 2.397
AR 2 22 A4 A 2] 4= 1 2,739




1=

57 S & @ WAT AA &5 A A4 £F TE O,
50] o] A 5] T FoA L.

V2

—_
[\
w

N

17321, 4ol A =27
o 11.237, 4o A &A1
o] 2t =29 h=7+1=38




P& 2 & Al A = E T 0.004

P
D)
N
I
i
2
rE

X
s
oo
el
£
rl:l
rln

N

A3 ot ExpE o 00] & ¢ glonz
7HE & A5 Al A = 9.602 o] B2
0.004 ZH& 4= 9.602 — 0.004 = 9.598 ©|T}.




) &) )

9.423

7P 2 4 9.702,
O

9.702 — 0.279 = 9.423




8.

57 7FE 6,4,2,5% T WA GOl 25 A A 48
Vg 2 SV e 50 g T L.

> E:

> HEH: 4.086

a
—

= ™,

71 2 ag Al A 4= 6.542
7V AL a5 Al 2] S 2.456
6.542 — 2.456 = 4.086




o.

Y.

F A L T AR O] 2 HEE A

A
B S

A 7hE 2 3

S
ES

9.

65.56

1 8
_ &
a4 ©
@

L0
o AR @
Sl i
I,
Xk &
W g &




